Multi Step Equations

@ Solve each equation.

1) 32 — 20+ 3z=35 + =
3) -2 _g9 — 1z

5) br — 14 =105 — 2z
7) 220 — 8+ 3x=052 + x
9) 5z — 14=21 — 2z

11) 3z — 15 + 3z=85 +
13) Tx — 27T =81 — 2z

15) 3z — 15 + 3z=95 + =
17) 2= _ g0 — 1,

19) 22 —70 — 1

21) 210 g _ 1p

23) Tz — 27T =54 — 2z

25) 2218 =32 — 1g

27) 3z — 15 + 3z=10 + «

6r — 14 _ 1
20) G214 _ 133 _ 1g
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2) 5z — 35+ 3z=98 + =
4) 212 _94 - lg
6) Tr — 18 + 3z =90 + =

2z — 12 1
g -1 _g33 1

x

10) bz — 21 =49 — 2z

12) 3z — 20 + 32 =40 + =
14) 6 — 16 + 32 =40 + =
16) 5z — 35 + 3z =77 +
18)2x — 16 4+ 3z =12 4+ =
20) 2-20 =45 — 14

22) 7z — 27=99 — 2z

24) Tz — 36 =171 — 2z
26) 4 — 30=12 — 2z

28) 422 _ o5 _

30) 220 =20 - 1z



Answers of Multi Step Equations

@ Solve each equation.

1) 32 — 20 +32z2=35 +z = z=11

3) 5m‘+24=90_ %:1: = =94

5 br —14=105 — 2z = =z =17
7) 20 — 8+ 3x=52+x = =15
9) bx — 14=21 — 22 = =5
11)3z — 15+ 32=8 + ¢ = =20
13) Tz — 27=81 — 2z = =z =12
15)3xz — 156 + 32=95 + ¢ = = =22

17)%:60— %m = =239

19) 28R =70 — 1z = =53

21)@:6— %m = z=14

23) T — 27=54 — 2z = =9

25) 2218 =32 — 1z = 2=60

27)3z — 15+ 3z=10+ 2 = =5

29)%:133— %w = =178

2) b2 — 35 4+ 3x=98 4+ = =19
4) 294 - 1z = =30

6) T — 18 + 3x=90 4+ =z = =z =12
8 Z_12_33_ 1z = =281

10) bz — 21 =49 — 2z = =10

12) 3z — 20 + 3z =40 + =z = =12
14)6x — 16 + 3x =40 + ¢ = =z =7
16)5x — 35 + 3x=77T+ 2 = 2=16
18)2x — 16 + 3x=12 4+ ¢ = =z =7
200 2-20 =45 — 1g = 2 =22
2)T7x — 27=99 — 22 = =14

24) 7Tz — 36 =171 — 22 = = =23
26)4r — 30=12 — 22z = =17

28) 422 _g5 _ 1o 0

30) 3220 _99 — 1z = =30



